lecture 17 ¥ 2AIE # 1 . Deferminagtion of e at the end of each
load increment in the Oedometer test

— The wvoid ratio at the end of each increment period can be calculated from the

dial gauge readings and either the water content or dry weight of the specimen at

the end of the test. REeferring to the phase diagram in Fizg. below, the two methods
of calculation are as follows.

{1} Water content measured at end of test =
Void ratio at the end of test = &, = w G, (assuming §, = 100 %)
Thickness of specimen at the start of test = H,
Change in thickness during test = AL
Woid ratio at the start of test = ¢; = ¢, + e
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In the same way £fg can be caloulated up to the end of any increment period.
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Fig. 7.2 Phase diagram.

(2) Dry weight measured at the end of test = M, i.e. mass of solids)
Thickness at the end of any increment period = I

Area of specimen = A

. . A - M
Ecuivalent thickness of solids = H, = A—G:a

: : _ A4 —-H _ H
Void ratio at the end of test, &, 1? H =g 1



